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Compare Percentages

Which sigh makes the expressions below true? complete witk

1 <, >,!or =,

" a. 70% of 100

30% of 100

" b. 40% of 85

2% of 250

e, 15% of 20.

d. 90% of 80

48% of 50

80% of 90

e 45%0f100 [ ] 55%of 100
j f.I :189;6 _of 8_5;_ 5% of.i25o
g 25%0f20 [ ] 50%0f50
~h. 75% of&] 70% of 90
i 5%of200 [ ] 10%of1000
_j. 70% of 350 25% of 2 500
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Compare Percentages

Which sigh makes the expressions below true? complete with <, >, or =.

70% of 100 | » | 30% of 100

Let’s first of all solve the left hand side.
_ |19 :
70% of 100 = 00 x 100 = 70..
Now, let’s solve the right hand side.
- | 39 =
30% of 100 = 100 x 100 = 30..
Finally, let’'s compare. Since 70 is greater than 30,
it implies that 70% of 100 > 30% of 100.

40%of 85 | > | 2% of 250

Let’s first of all solve the left hand side.
409 = 40 y 85 =24
40% of 85 == X

Now, let’s solve the right hand side.
Q, —_— l r =
2% of 250 = 00 x 250 =5
Finally, let's compare. Since 34 is greater than 5,
it implies that 40% of 85 > 2% of 250. |

c.

15%0f 20 | « | 48% of 50

Let’s first of all solve the left hand side.
L8 .

15% of 20 = 50 X120|=3 .

Now, let’s solve the right hand side.

; _ 48 )
48% of 50 =100 x50 =24

Finally, let's compare. Since 3 is less than 24,
it implies that 15% of 20 < 48% of 50.

All rights reserved

90% of 80 80% of 90

Let’s first of all solve the left hand side.
_ 90 5

90% of 80 = &0 x80Q0=V2 |

Now, let’s solve the right hand side.

0, = _8_0 =
80£0f90—100><90 72|

Finally, let’s compare. Since 72 is equal to 72,
it implies that 90% of 80 = 80% of 90. |
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